Chapter 11 Rubenstein

Industry

A. Industry is the manufacturing of goods in a factory

B. Industry really began with the Industrial Revolution

1. Industrial revolution began in England in late 1700’s

2. Began in England because raw materials (coal and iron) were there

3. Most important invention was steam engine (James Watt)

4. Iron industry took off when Henry Cort invented iron forge

5. Coal took the place of wood as a fuel and was used in forging iron

6. Engineering took off: 

a). James Watt and Matthew Boulton went into business and produced many new machines which improved industry

7. Transportation played critical role in Ind. Rev.

a). Needed transportation routes for manufactured products

b). Canals and railroads built


1). RR was a joint effort: William Symington and William Murdoch together invented the locomotive


2). William Hedley demonstrated that “iron horse” could run on rails if wheels had rims.


3). Richard Reynolds invented rails


4). First public locomotive used in England in 1825

8. Textile (woven fabrics) industry took off:

1). Between 1760-1800:


a). Method to spin yarn was developed


b). Fabrics then had to be woven and bleached


c). Bleaching led to the development of the chemical industry

2). First bleaches were ashes and sulfuric acid

3). later bleaches included chlorine gas and lime

4). Today most fabrics are synthetic and may be made of a petroleum or coal derivative

9. Food processing industry took off:

1). Old method of preserving included drying, fermenting, or pickling

2). 1810 – Nicholas Appert developed canning

3). 1839 – Peter Durand invented the tin can

4). 1861 – learned that adding calcium chloride to water decreased time necessary to sterilize cans

C. World’s Fair in Britain in 1851:

1.“Crystal Palace built to symbolize the industrial revolution

a). Housed exhibits of modern machinery

b). At this time, Britain produced > ½ of world’s cotton fabric, and mined 2/3rds. of world’s coal

D. Worldwide diffusion of manufacturing occurred in 4 clusters:

1. Eastern North America

2. Western Europe

3. Eastern Europe and Russia

4. Japan

E. Land use issues related to manufacturing:

1. Less than 1% of world’s land is used in manufacturing

2. Both site (land costs, capital, labor cost/availability) and situation (transportation costs of raw materials and finished goods) must be considered:


a). Land – most factories located in rural or sub-urban areas



1). Most factories are only 1 story, so may need a lot of land



2). Want cheap land as well as available energy



3). Some companies select less expensive areas of the country to locate factories while headquarters may be elsewhere


b). Capital



1). Usually must be borrowed



2). Cities may offer tax incentives


c). Labor



1). Many industries such as textiles are labor intensive



2). Companies may look for countries where labor is readily available and cheap



3). Today, many US factories are locating manufacturing plants in LDCs



4). Also US textile companies may locate in SE USA where labor unions aren’t strong


d). Transportation costs



1). Most expensive: air, then trucking, RR, and shipping



2). Copper industry




a). Copper ore in US is low grade – less than 1% of what is mined is copper ore – the rest is waste!




b). Copper must be mined, processed, and the wastes disposed




c). Thus, copper is a bulk reducing industry



3). Transportation costs are critical to 3 types of industries:




a). Bulk gaining – e.g. bottling companies




b). Perishable industries such as dairy products




c). Single market – fashion industry



4). Total costs will depend on how far and how fast the products must go and if they have to change modes of transportation




a). Break-of-bulk-points are points where goods change methods of transportation – e.g. RR to shipping

F. Industrial problems:

1. Gap between supply and demand

2. Stagnant demand:

a). From late 1700’s to 1970, growth of manufacturing

b). Since 1970, growth has slowed in MDCs because population growth has slowed; wages have not risen as quickly; inflation; and population is demanding high quality goods

c). Also – recycling has slowed both the mining and manufacturing industries

3. To solve these problems, MDCs need to protect their markets from competitors; LDCs must find new markets and sources of capitals

G. Trading blocs – 3 most important:

1. Western hemisphere – e.g. NAFTA

2. Western Europe – e.g. European Union

3. East Asia – less formal cooperation – e.g. Pacific Rim countries

4. Competition between trading blocs leads to taxing imports and limiting number of imports and exports

H. Transnational corporations – we have been over this, but review

1. Maquiladoras

2. Environmental laws in LDCs vrs. MDCs

3. Cost of labor in LDCs vrs. MDCs

I. Special problems in LDCs:

1. Distance from market

2. Lack of infrastructure (transportation routes, training facilities for workers, etc.)

3. Often must sell their goods to their own people who can’t afford them

4. Interestingly, both Australia and New Zealand have problems similar to LDCs because of their geographic isolation.
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